Шпаргалка

Город «Воспоминаний»
Как решать уравнения:

1. 40 – х = 30

х = 40 – 30

х= 10

Ответ: х=10

2. 4 * х = 576

х= 576 : 4

х=144

Ответ: х = 144

3. 3х = 9

х=9 : 3

х=3

Ответ: х=3

Запишите выражения:

4. произведение числа 3 и суммы а и 5

                 3 * (а + 5)

Упростите выражение:

5. х * 4 * 5= 20 * х = 20х

6 : 3 = 2
             Делимое                 частное

                            Делитель

2 * 3 = 6

             множитель            произведение

                            множитель

 6 + 3 = 9

             слагаемое                сумма

                            слагаемое
6 - 4 = 2
            уменьшаемое        разность

                           вычитаемое
Станция «Вычислительная»
Выполните деление с остатком:

1. 327 на 11     
                        327 : 11 = 29 (ост.8)
327 |11

 22     29

 107

   99

      8

327    :  11 = 29 (ост.8)

29 * 11 + 8 = 327
